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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their

1. Answer any ten questions:

own words as far as practicable.

2x10=20

@I i dria Ted wie ¢

)

iii)

Evaluate log0.0075 where log2=0.3010 and
log3=0.4771.

l0g0.0075-43 w9 fady I3 @A
log2=0.3010 @R log3=0.4771 |

Solve: 2¥% 4+ 2 =320
AN FF ¢ 2% 42 =320

Sum of three numbers of a A.P. is 12 and

sum of their squares is 56. Find the numbers.

[Turn over]

Vi)

vii)
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@-@IE @ AT Asifen foat Az 7w
12 ¢ 72y fomfba qesfa A=f® 56 2o, e foat
fef w41

If a, b, ¢ are in G.P., prove that

azbzcz(%+%+i}j:a3+b3+c3,
a c
W a, b, ¢ WETET A9STS AF O 2

a’b’c’ (%+%+%J: a’+b’+¢ |
a C

In what time a sum of money will be double
at 5% p.a. compound interest? Given
log2=10.3010, logl1.05=0.0212.

veqiE AW B 5% TE IO WA I fawd
3?7 (2v€ log2=0.3010, logl.05=0.0212)

Find the present value of an immediate annuity
of Rs.400 payable for 10 years at 5% p.a.

compound interest.

AT 5% vagia 27 W@ 10 & & (7
400 TP gror AP 9 o7 e 59|

Define frequency curve.

AP (@A ARl WIS |

(2)



vii1) Calculate the value of x when x is the H.M. x—3

of 28 and 7. 47e f(x) = Tr x#3,
x M 28 @ 7-93 2N VGF T O x-43 A 1 w7 x=3
faef 41

@ f, x=3 e A= [l T2 591

ix) If 6 is the geometric mean of a, 4, 8, find the xiv) If y=5%x", then prove that

value of a.

dy
Tt 6 WA a, 4 8 8-9F BTG THF T O d—x=y(5+x10g5)_
a-a3 Wi faefa 4|

M y=5"x" T, O &l
x)  Find the Median of the numbers:
dy
e alefer s o 9 ¢ 5 = Y(5+xlog5) |

94, 33, 86, 68, 32, 80, 48, 70 j dx
xv) Integrate:

xi) Find the standard deviation of the numbers: VX’ +3

gvre AcApafers T Ay N o= ¢ dx

20, 85, 120, 60, 40
2. Answer any four questions: 5x4=20
) Caleulate: 1 x* +4x° - 5x7

Xll) alculate: lm—— - m m W e ¢

x—1 x—1
1)  If pqr=1; prove that

CoxY+4x° -5x7
e foef 2 hE?T 1 1 1 4

—1+ —1+ -1~
I+p+q 14+q+r 1l+4+r+p

[x-3

xiii) Given that f(x)= if x#3, M par=1 2, O &4 I @

x=3
1 if x=3 1 1 1
—1+ —1+ -1
I+p+q 14+q+r 1l+4r+p

=11
is f continuous at x=3?
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iii)

1v)

dx
2 Jx+1°

Evaluate: .[02 7
X+

dx

VX+2—-+x+1

e e 9 ¢ [

X dy
If y=——or, that x —+ -1)=0.
y =~ prove that x— y(y-1)

dy
it y=—— 2o & 7 x> +y(y—1)=0 |
Y x+4 N i de y(y)

Find the mode of the following distribution:
fese fRetem (A IRyieEe o 9 ¢

Wt. in [410-419420-429[430-439440-449 | 450-459 | 460-469| 470-479

grams

Frequ- [ 12 20 40 50 45 20 10

ency

v)  Calculate the value of Mean Deviation from

the mean of the following distribution:
e s e @fFE 9w @@ 5T
Al M= e 54 ¢

Marks 5 15 25 35 45 | 55 | 65 | Total

No. of students 4 6 10 20 10 6 4 60
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Vi)

Find the co-efficient of correlation from the

given data:

2ve O (AGF H2oAFe weiexa Wi e <54 ¢

X

3 5 7 8 9 15 | 16

y

15 18] 22 (24| 19 | 25 | 31

Answer any two questions:

10%x2=20

- 75 eria Tex wie ¢

a) 1)  Find, by the weighted A.M. method, the
index number from the following data:
5
e oSl (AF -SRI
SRS ({19 G 2IFeCS AoF FA e
R
Commodity | Base price | Current price | Weight
(o) (fefew=) (veTre 7a) (e19)
Rice 30 52 8
Wheat 25 30 6
Fish 130 150 4
Potato 35 49 8
o1l 70 105 9
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Find the two regression equations from

the following data: 5

e wle] (AT 2o @UMiva A=
foefar <59 ¢

2 1014 | 8|12 |14 |16

11 5 8| 7|11 |16 |18

Draw a cumulative frequency diagram
(less than type) from the following data:
4

ATE O (A G5 AR (@2 STzl
39 (A5 () ¢

Monthly wages

125-175 | 175-225 | 225275 | 275-325 | 325-375

No. of labours

6 10 25 35 12

ii)

Draw the ogive and find median from

the following data: 6

2w ©f (A o AR @2l SF
9 G WYl T 59 ¢

Salary

2327 | 28-32 | 3337 | 3842 | 4247 (48-52

No. of labour

2 5 9 15 30 18

Salary

53-57 | 5862 | 6367 | 68-72 | Total

No. of labour

12 5 3 1 100
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Prove that the standard deviation is
independent of the change of origin.
4

gl I @ NS AL AR =6
[BE&ied

Obtain the quartiles of the following

distribution: 6

ane Rere=g vedeaf [ 31 ¢

Year

25458 |60 |62 ([64]66]68][70

frequency

M4l 16|22 |31 26216 5]4

208/Comm.

(8)



